Total No. of Printed Pages—7
3 SEM TDC ZOO M 3 (N/O)

2018

| ( November )

ZOOLOGY

' ( Major )

t Course : 303

‘\ ( Bioinstrumentation and Biostatistics )
Time : 2 hours

The figures in the margin indicate full marks
for the questions

( New Course )

Full Marks : 48
Pass Marks : 14

( Bioinstrumentation )

1. Rewrite the following sentences by keeping
the appropriate word(s) from the given

options : 1x3=3

(@) The resolution of scanning-electron
microscope is about 10 nm / 20 nm /
25 nm / 30 nm.
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lh2) (3)

(b) Near visi
sible li W4 _
SEE T ght / Visible light / Mono- 4. Write on the working principle and
SR N .blght/ Electromagnetic wave | applications of any two of the following
SiDle s ; 3 -
pectra is wused i ; instruments : 6x2=12
SPeCtrophotometer . :
' ‘ (a) Rotary microtome
€ A b
eam :
A of electrons is transmitted | (b) Kymograph
T, .an ultra-thin specimen in _
i SRS TEME/SEM * | (c) Scanning electron microscope (SEM)

(d) Colorimeter

2. Giv
€ an i
outline feature of ultracentrifugati
on

and i .
d its application in bioscience (e) Spectrophotometer

3+4=T
3. DlSti : ‘
nguish betw
following - SEROnanySs thollofaihe ! ( Biostatistics )
3x2=6
T P 5. (a) Rewrite the following sentences by
exc <
PRES and thi i keeping the appropriate word(s) from
chromatography firleyer the given options 1x2=2
E 3 Kl=
(b) Magnification (i) If there is zero or negative value
¢ and reSoluti . q . .
microscope on power o £ exist in a series of data, arithmetic
mean [ geometric mean / mean
(c) Beer’s law Y0 deviation / variance cannot be
Lambert'g law | calculated.
j (i) Yates’ correction is used in t-test /
P9/202 | Z-test | F-test / 3>-test.
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(Fa5)

(b) Distinguish between the following

6. Elaborate

‘standard deviation’ are most wi

=(
statistical terms (any two) : 3x2

() Discrete and Continuous data

(1) Standard deviation and Standard
error

(iii) Median and Mode

Why ‘arithmetic mean’ and

dely used in

analyzing biological data. €

Or

€Xample 6
7. Write notes On any two of the following c
3x2=6
(@) Utility of biostatisticg
(b) Confidence limitg
(c) Regression €quation
(d) Sampling
P9/202
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